alias(D=DD):
f := ((4-x)*ln(x)=-3%xx)/(xkln(x)"2=-x"2*%1ln(x)):
(4—x)In(x) —3x &

xln(x)2 — In(x)
= In(x)"2=xxln(x);

¢ (£ -1)nin) -3

C := (4/x-1)*ln(x)-3; D

D = In(x)* — x In(x)
Int( subs(ln(x)=theta,C/D), x ), theta=ln(x);

(i—lje—S

X

5 dx, 8=In(x)
0 —x06

TR := subs(ln(x)=theta,

20

Int(f,x);

'resultant' (C - zxdiff(D,x),D, theta));

TR == resultant((%—l)9—3—z (T —O—IJ,OZ—XG,GJ

factor(TR);
(z—3)(z—1) (x—1)

c[1l] := 3:
v[1l] := subs(ln(x)=theta, 'gcdex' (C-c[1]xdiff(D,x),D,theta));
‘c[1]' = c[1], 'v[1]' = v[1];

4 2
vy = gcdex[(——l)@—ﬂ+39,9 —xe,e]

X X

cl=3,v1=9
c[2] := 1:
v[2] := subs(ln(x)=theta, 'gcdex' (C-c[2]*diff(D,x),D,theta));
‘c[2]' = c[2], 'vI[2]' = v[2];

V2 ce[( )

02=1,v2=9—x

—+6,62—x9,9)
X

Int(C/D,x) = c[1l]xlog(v[1l])+c[2]*log(v[2]), theta=ln(x);
[%—1)]11()0—3

ln(x)2 —xIn(x)

dx=31In(0) + In(6 —

x),0=In(x)



